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Annex 

(𝑎𝑎 − 𝑏𝑏)(𝑎𝑎 + 𝑏𝑏) = 𝑎𝑎2 − 𝑏𝑏2 

(𝑎𝑎 + 𝑏𝑏)2 = 𝑎𝑎2 + 2𝑎𝑎𝑎𝑎 + 𝑏𝑏2 

𝑐𝑐2 = 𝑎𝑎2 + 𝑏𝑏2 

𝑉𝑉𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝 = 𝐴𝐴𝑏𝑏 ∙ ℎ 

𝐴𝐴𝑟𝑟ℎ𝑜𝑜𝑜𝑜𝑜𝑜𝑜𝑜𝑜𝑜 =
1
2
∙ 𝑑𝑑1 ∙ 𝑑𝑑2 

𝑎𝑎𝑥𝑥2 + 𝑏𝑏𝑏𝑏 + 𝑐𝑐 = 0, 𝑎𝑎 ≠ 0, 𝑥𝑥1 + 𝑥𝑥2 = −
𝑏𝑏
𝑎𝑎

,   𝑥𝑥1 ∙ 𝑥𝑥2 =
𝑐𝑐
𝑎𝑎

  

 

 



Nr. Items Score 

 
1.  

Fill in the box with one of the symbols “<”, “>” or “=”, so that the statement 
becomes true.  

��3− 1� ��3 + 1�                     3. 

L 
0 
2 

 
2. On the picture, points 𝐴𝐴,𝐵𝐵,𝐶𝐶 are situated on the 

circle of center 𝑂𝑂 and 𝑚𝑚(∢𝐴𝐴𝐴𝐴𝐴𝐴) = 140°. 
Write in the box the degree measure of the 
angle 𝐴𝐴𝐴𝐴𝐴𝐴. 

 
𝑚𝑚(∢𝐴𝐴𝐴𝐴𝐴𝐴) =               °. 

 

 

 

 

 

L 
0 
2 

 
3.  

Consider the function 𝑓𝑓:ℝ → ℝ, 𝑓𝑓(𝑥𝑥) = 2𝑥𝑥 + 6.   

Fill in the box so that the statement becomes true. 

 

„𝐴𝐴 (         ;          ) is the point of intersection of the graph of the function  𝑓𝑓 with the 
ordinate axis.” 

L 
0 
1 
2 

 
4. A tourist has travelled a distance of 20 km in two days. The first day he travelled 

40% of the way and the rest of the distance he travelled the second day. Determine 
what distance the tourist travelled the second day. 
Solution: 

 
 
 
 
 
 
 
 
 
 
 

 
 
 

 
Answer:__________________________________________________________. 

 
L 
0 
1 
2 
3 
4 
 

B 

C 

A 

 

 O 



 
5. Calculate the value of the expression 

210 +4
28 − 1

26. 
Solution: 

 
 
 
 
 
 

 
 

 
Answer:__________________________________________________________. 

 
L 
0 
1 
2 
3 
4 
 

 
6. Determine all real values of 𝑥𝑥, such that the sum of expressions 2𝑥𝑥 − 1 and 

4 − 5𝑥𝑥 is positive. 
Solution: 

 

 

 

 

 

 

 
Answer: __________________________________________________________. 

 
L 
0 
1 
2 
3 
4 
 

 
7. The area of a rhombus is equal to 120 𝑐𝑐𝑚𝑚2 and the length of 

one diagonal is equal to 24 𝑐𝑐𝑐𝑐. Determine the length of the 
side of the rhombus. 
Solution:  

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Answer: __________________________________________________________. 

 
L 
0 
1 
2 
3 
4 
5 
 

 
 
 

 
 
 
 



 
8. The numbers 𝑎𝑎 and 𝑏𝑏 are directly proportional to the numbers 7 and 5. Determine 

the numbers 𝑎𝑎 and 𝑏𝑏, if  𝑎𝑎 − 𝑏𝑏 = 12. 
Solution: 

 
 
 
 
 
 
 
 
 
Answer:__________________________________________________________. 

 
L 
0 
1 
2 
3 
4 
5 
 

 
9. Determine the sum of integer solutions of the inequality  4𝑥𝑥2 − 4𝑥𝑥 − 3 ≤ 0. 

Solution: 

 
 
 
 
 
 
 

 
 

 
 
Answer: __________________________________________________________. 

 
L 
0 
1 
2 
3 
4 
5 
 

 
10. The diagonal section of a right square prism is a square with the length of the side 

equal to 2 𝑐𝑐𝑐𝑐. Determine the volume of the prism.  
Solution: 

 

  

 

 

 
 
 
 
 
 

 

Answer:__________________________________________________________. 

 
L 
0 
1 
2 
3 
4 
5 
 



 
11. Let 𝑥𝑥1 and 𝑥𝑥2 be the real solutions of the equation 2𝑥𝑥2 − 4𝑥𝑥 − 3 = 0. Find the 

value of the expression 𝑥𝑥1
2 + 𝑥𝑥2

2. 
Solution: 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Answer:__________________________________________________________. 

 
L 
0 
1 
2 
3 
4 
5 
 

 
12. Consider the function 𝑓𝑓:ℝ → ℝ, 𝑓𝑓(𝑥𝑥) = 𝑥𝑥2 + 𝑝𝑝𝑝𝑝 + 𝑞𝑞. Find all real 

values of 𝑝𝑝 and 𝑞𝑞, such that the point 𝐴𝐴(−2;  2 ) belongs to the graph of the 
function 𝑓𝑓 and 𝑥𝑥 = −3 is a zero of the function 𝑓𝑓.  
Solution: 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
Answer:__________________________________________________________. 

 
L 
0 
1 
2 
3 
4 
5 
 


